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Stack Applications

int sum_list( int the_list[], int size )
{

int sum

from list stack import Stack

s_validSource ( srcfile ):
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Postfix Example #1

Tol Stack Des

ABC+DI 1 s push value of A

ABC+D/ 1 82 push value of B

ABC+D 1 823 push value of C

ABC+D/  2() 8 pop top two values: y = 3, x = 2
20) 8 computez=x+yorz=2+3
200 85 push result (5) of the addition

ABC+DI  2(a) pop top two values: y =5, x = 8
2(b) compute z=x*yorz=8*5
2(c) push result (40) of the multiplication

ABC+D/ 1 4 push value of D

ABC+DI  2(a) pop top two values: y = 4, x = 40
2(b) computez=x/y orz=40/ 4
200 10 push result (10) of the division

AB*CD+
AB*CD+
AB*CD+

Error
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Postfix Example #2

« What happens if the expression is
invalid?

Stack
2

200 16

1 16 3

1 16 3 4

2a) 16

20) 16

20c) 167

XXXXXX XXXXXX

AB*CD+

push value of A

push value of B

Pop top two values: y = 2, x = 8
computez=x*yorz=8*2

push result (16) of the multiplication
push value of C

push value of D

pop top two values: y = 4, x = 3.
computez=x+yorz=3+4
push result (7) of the addition

Too many values left on the stack.



